A HEEAEIIEY

o AU SHTS(ASSN/2S - HEU0A)
|

Sl 4FFEII 7E L GASANY XL CERED
S - O9(3) - NIBAY - BHES Ol &4 JNEH Hus2

HAEIIEY 36,445,275 35,851,134 594,141

= 7,972,756 7,924,031 48,725

Xl 3,750,000 3,750,000 0

Il 15,183,914 15,273,515 89,601

== 9,538,605 8,903,588 635,017

FHN AHBES(AMSSX/ER - IEL0HY) 8,560,479 8,413,825 146,654

= 1,944,475 1,921,231 23,244

J| 3,141,048 3,281,806 A 140,758

= 3,474,956 3,210,788 264,168

AFFsP|E 25 2 HdssEHY N] 3,831,508 3,944,253 A112,745

= 1,755,908 1,752,664 3,244

Il 148,000 300,000 A152,000

= 1,927,600 1,891,589 36,011

Gl EEM F& 106,986 105, 306 1,680

301 EtEat=g 8,056 6,376 1,680

N EPEEEEERE) 8,056 6,376 1,680

oMBl=LoRE AT 8,056 6,376 1,680

ST BANL B 253,620 253,620 0

401 Al HIZ 2 0HYI 0 253,620 A253,620

01 Al&£HI 0 253,620 A253,620

OBZ0IH4RE Jls B A 0 253,620 253,620

403 XX &M S XH=01 & 253,620 0 253,620

02 BJ|2SHUSAHESHUHEAISHI 253,620 0 253,620

Os=n0&EsEd Jls BEZ MY 253,620 0 253,620

MME NZSE(2D)(HE) 10,000 0 10,000

= 5,000 0 5,000

= 5,000 0 5,000

307 21201 & 10,000 0 10,000

= 5,000 0 5,000

= 5,000 0 5,000

11 AL S XA E X 10,000 0 10,000

OAHEMLHH 2SX& 10,000 0 10,000

= 5,000 0 5,000

= 5,000 0 5,000

MHdEH XE32E(22) 1,898,092 1,902,517 A4,425

= 1,750,908 1,752,664 21,756

= 147,184 149,853 £2,669

308 XXX SO0l & 1,898,092 1,902,517 4,425

= 1,750,908 1,752,664 21,756

== 147,184 149,853 A2,669

01 AXSHHMBAEES 1,898,092 1,902,517 A4,425

ONYNREY Z2IY 29 545, 180 533,600 11,560

= 545,180 533,600 11,560
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A HdEAEIIED

HE: MDY Y

== }

S(MEEX/ES - IIELNY)
=1}

SCE 2 GHSANWY XY ETE-L)
SAH - ZE - S(50) - NEAY - HES 01l &k o8 p[E-1 HRE2

OMEHdH 2 XI& 695, 192 711,/197 A 16,005

= 579,328 592,664 13,336

o= 115,864 118,533 A2,669

HEHEWLFYXRE(ZD) 148,000 300,000 A 152,000

| 148,000 300,000 A 152,000

308 ItXIHSOIH 148,000 300,000 A 152,000

| 148,000 300,000 A 152,000

01 HXSHHNBAEXS 148,000 300,000 A 152,000

oZFHAENAE HAXA 148,000 300,000 A 152,000

I 148,000 300,000 A 152,000

GEoggMdE 29 376,000 344,000 32,000

307 2I2+0l A 376,000 344,000 32,000

10 A SEXANEEHE2SHIEX 376,000 344,000 32,000

ONgelsEfgdy 249 376,000 344,000 32,000

&2 ASE0 B0 & & a4 300,910 240,910 60,000

GidGAEH s FE 146,200 86,200 60,000

201 L et29H| 20,300 10,300 10,000

03 & Ar2 | 14,000 4,000 10,000

OLIAMNU LA AlatAl 14,000 4,000 10,000

308 XtXI XS0l & 65,000 15,000 50,000

01 AXSHHBAEES 65,000 15,000 50,000

O & MY CIRZZIDY M 50,000 0 50,000

Olgeld=Es & ol 4,428,061 4,228,662 199,399

= 188,567 168,567 20,000

| 2,993,048 2,981,806 11,242

< 1,246,446 1,078,289 168, 157

HOfOISEHAE 4 QAWK AZTAESIH(21) 40,000 20,000 20,000

= 40,000 20,000 20,000

307 212+01 A 40,000 20,000 20,000

= *40,000 20,000 20,000

11 MESXAMNEEE 40,000 20,000 20,000

OFOHOIS - AE 4 QANS 40,000 20,000 20,000

= 40,000 20,000 20,000

Ol4212 83 13664IE 2K (=1) 456,592 425,661 30,931

J| 228,296 212,831 15,465

== 228,296 212,830 15,466

307 212t0| ™ 456,592 425,661 30,931

D) 228,296 212,831 15,465

T 228,296 212,830 15,466

1M AEISXIANEEE 456,592 425,661 30,931

ONH2UZ283 1366 2 XA 456,592 425,661 30,931

| 228,296 212,831 15,465
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= 4

= 3

A EAUIISD
D EEMD BHBS

=)

(MSIZX/ES - HEY

od)

e AQIRAES L oY (Ste: &8 9)
2 - 38 .. 0(SH) - HEAY - BHES 0| AboH I &M Hns2

| [~ 228,296 212,830 15,466

HA212H3 13664EH JlsE2 N (ZE 148,930 0 148,930

402 BI2HXH=0| A 148,930 0 148,930

01 QIZIRHE A EX (KA ) 148,930 0 148,930

OUAASES 13664E Js22 XY 148,930 0 148,930

JIEZE DA RnEI2 T2 2H9(2D) 75,577 53,852 21,725

bl 66,967 47,717 19,250

[~ 8,610 6,135 2,475

308 X XISHHSOIE 75,577 53,852 21,725

J| 66,967 47,717 19,250

[= 8,610 6,135 2,475

Ol AXSHBABEZ 75,577 53,852 21,725

OJNEEH Dol nEXBE2 I 75,577 53,852 21,725

] 66,967 47,717 19,250

= 8,610 6,135 2,475

A= Ik REXNESZ20Y 29(21 28,440 50, 165 N21,725

J| 25,200 44,450 219,250

[~ 3,240 5,715 A2,475

308 XXl A SO0l & 28,440 50, 165 A21,725

] 25,200 44,450 219,250

[ 3,240 5,715 A2,475

01 HXSHHBABEZ2 28,440 50, 165 n21,725

OME™ JIoA RDEISEZZIY 2K 28,440 50, 165 N21,725

] 25,200 44,450 219,250

[~ 3,240 5,715 A2,475

ZALIHOIZHLAES AL HFBA(21D) 2,975 0 2,975

] 2,450 0 2,450

[ 525 0 525

403 IIXISHES 201X 2,975 0 2,975

b 2,450 0 2,450

[~ 525 0 525

01 HIXISHREEXR 2,975 0 2,975

OZAHIGH 0IFHAE BSAL JIsE2 X 2,975 0 2,975

2l 2,450 0 2,450

[~ 525 0 525

SibtetdldE 2IX(=1) 1,195,985 1,318,510 A 122,525

Jl 1,016,587 1,140,790 A 124,203

= 179,398 177,720 1,678

307 2I2t0| A 1,195,985 1,318,510 2 122,525

I 1,016,587 1,140,790 A 124,203

[= 179,398 177,720 1,678

1 AISI XA EX 1,195,985 1,318,510 122,525

OdfiHtetI|HE 2 X 1,195,985 1,318,510 A 122,525

2l 1,016,587 1,140,790 £ 124,203

= 179,398 177,720 1,678
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2A: EEAEIIZD

HIM: (EFMD SHES(MISX/ES - HFLHY)

CHel: OlMQIRES L ol (ol &)
24 - 38 . 02(3H) - NEAY - HES Oi &ko - JES Hus2
HEZAMNA BESAE 2| (=2D) 70,671 103,599 232,928

7| 58,806 86,806 £28,000

[ 11,865 16,793 ~4,928

308 XtXI A SO A 70,671 103,599 A32,928

J| 58,806 86,806 28,000

= 11,865 16,793 £4,928

01 IXSHBNEES 70,671 103,599 232,928

ONEALMNA BESAE 2% X 67,233 95, 161 227,928

7| 55,368 78,368 £23,000

[ 11,865 16,793 £4,928

OMZAMHA BESAIL HIS2X MHYI 3,438 8,438 25,000

7| 3,438 8,438 25,000

HZMNA ESAIE JIs2EZXRA(Z1) 18,000 0 18,000

7| 12,000 0 12,000

< 6,000 0 6,000

403 XHXISHHI S K20l & 18,000 0 18,000

7| 12,000 0 12,000

< 6,000 0 6,000

01 IXISHH=2EE 18,000 0 18,000

ONZAMN BESAL JIsEL I 18,000 0 18,000

J| 12,000 0 12,000

= 6,000 0 6,000

HAEATHNK L2 - S2HIE - 2UHIE XNA(2 133,730 0 133,730
D)(=YE)

7l 133,730 0 133,730

307 2I2+ol & 133,730 0 133,730

7l 133,730 0 133,730

11 ABI XA EE 133,730 0 133,730

OMZATMNA L2AY - 82 - 2UHIE XL 133,730 0 133,730

7| 133,730 0 133,730

HEATNL LAY - S2HIE - 2UHIE X(2 400 600 2200

1)

7| 400 600 2200

308 XHXICHAMI SOl &® 400 600 £200

J| 400 600 2200

01 IXSHBARES 400 600 £200

O EZHINA Y24 - 2 - 2UHI2 XY 400 600 £200

7| 400 600 £200

OEABTAIL 2Y XY 66,948 66,462 486

308 XtXI A SOI& 51,948 51,462 486

01 IXSHHBABES 51,948 51,462 486

ONHEAUBTTANL 28 K& 51,948 51,462 486

235t A201E X (AESX/E] - IHELAHY) 15,977,899 15,661,284 316,615

= 5,657, 151 5,668,050 210,899




A

=R

e

G AEI=EL
O2s A20HE N(MIEX/ES - IHELAHY)
28018 23 =4

EMN -3 . (3H) - HIEANY - BHAS 0ff &+ JIE M Hus2
p] 7,616,378 7,610,060 3,584
[ 2,704,370 2,373,272 331,098
AFINE 23 =4 15,977,899 15,661,284 316,615
= 5,657,151 5,668,050 210,899
J| 7,616,378 7,619,962 A3,584
[ 2,704,370 2,373,272 331,008
ot IINIEXNAANY(2D) 169,728 163,728 6,000
= 136,440 136,440 0
[ 33,288 27,288 6,000
308 RHXISHRISOI A 169,728 163,728 6,000
= 136,440 136,440 0
[ 33,288 27,288 6,000
01 HXISHBAEE2 169,728 163,728 6,000
OFHASIIINE X 169,728 163,728 6,000
2 136,440 136,440 0
[ 33,288 27,288 6,000
Ot B2NS(21) 11,655 24,732 A13,077
= 9,711 20,610 210,899
[ 1,944 4,122 A2,178
308 XHXI CHRIS Ol & 11,655 24,732 213,077
= 9,711 20,610 210,899
[ 1,944 4,122 A2,178
01 HXSHBABER 11,655 24,732 A13,077
O&OIII= 82D 11,655 24,732 A13,077
2 9,711 20,610 210,899
[ 1,044 4,122 A2,178
AUINE L UREIIE XJLE 2 (2D)(FE) 36,064 36,064 0
J| 18,032 25,245 AT7,213
[ 18,082 10,819 7,213
307 QI2HO| A 36,064 36,064 0
J| 18,082 25,245 AT7,213
[ 18,032 10,819 7,213
11 ABIEXIANYEX 36,064 36,064 0
OURSINEXRME HEHE 2 36,064 36,064 0
7| 18,082 25,245 AT7,213
[= 18,082 10,819 7,213
CRSIIESXRAME HELMEH ALY X 10,000 0 10,000
307 QI2+0| ™ 10,000 0 10,000
11 ABIEXAIYEX 10,000 0 10,000
OLIRSIIENIME HEHE AY X 10,000 0 10,000
2AINE L CUREIIE |4 H 29 (=210) 2,201,577 2,231,577 230,000
p] 1,904,645 1,934,645 30,000
[~ 296,932 296,932 0
308 XHXISH SO & 2,201,577 2,231,577 A30,000
b] 1,004,645 1,034,645 30,000
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FA: g EAENSY
FH: 28 42018 XNE (M EX/ES - IHEL0H)
Ce: AXIE 28 X4

SN FB . S(3) - ALY - BAS Ofl ko plE-L" HBE2
== 296,932 296,932 0
01 XX EHZBAEEZ 2,201,577 2,231,577 230,000
OAAINE - UESIEXNJAHE SEMHIA 1,655,381 1,685, 381 230,000
J| 1,449,484 1,479,484 230,000
T 205,897 205,897 0
Ad AT AeXlzg X (=1) 15,898 7,380 8,518
J| 13,248 6,150 7,098
= 2,650 1,230 1,420
308 AtXIEMSOIE 15,898 7,380 8,518
J| 13,248 6,150 7,098
= 2,650 1,230 1,420
01 HXEHMBAEEXZ 15,898 7,380 8,518
OStRE2 Ald 24Xt AgXz X 15,898 7,380 8,518
| 13,248 6, 150 7,098
& 2,650 1,230 1,420
MAeleld DiE&iAr XIR 40,000 30,000 10,000
307 2i12t0|& 40,000 30,000 10,000
11 MISTAMLEX 40,000 30,000 10,000
OAMAH2Y JIE3-A XI& 40,000 30,000 10,000
CE2sots M S8 X 332,371 36,000 296,371
308 AXIEHM SOl 38,371 10,000 28,371
01 RIXIEHMBAEEZ 38,371 10,000 28,371
OF&E & Ots u=s XN 28,371 0 28,371
403 XIS XE01H 278,000 10,000 268,000
01 XX SHA2EE 278,000 10,000 268,000
OEHe HE MY 28I|2 J|IsE2 X 250,000 0 250,000
O2UZIE - U2SIIEXJHH JIsEd 18,000 0 18,000
AHgs L HEHME S SEuSAHAHA X (=210) 860,020 914,618 54,508
J| 792,124 842,415 250,291
== 67,896 72,203 A4,307
308 AtXI A S0l 860,020 914,618 A54,598
J| 792,124 842,415 250,291
1= 67,896 72,203 24,307
01 RIXIEtHEBAEERZ 860,020 914,618 A54,598
OXHLE & M& S HEZUSAMHA K& 860,020 914,618 254,508
| 792,124 842,415 250,291
< 67,896 72,203 24,307
ZEOISX SHANHIA XI& 384,394 309,415 74,979
2l 354,047 284,987 69,060
< 30,347 24,428 5,919
308 XXX SO0IA 384,394 309,415 74,979
pl 354,047 284,987 69,060
& 30,347 24,428 5,919
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SN Ol EAEIIED
H: 028 AL N (ASX/E2S - HFL0E)

Be: AMIIE 28 =4 (etel: &
2MH -3 -A2(3) - HIFAY - BHES Oil &4 JEH Hn=2

01 AIXNSHBAEES 384,394 309,415 74,979

OZE0/2X SHAAMHIA XA 384,394 309,415 74,979

Il 354,047 284,987 69,060

= 30,347 24,428 5,919

CHE23DE JHoolee X3 375,785 372,736 3,049

Il 346,118 343,309 2,809

= 29,667 29,427 240

308 XXl EtMI S0 ™ 375,785 372,736 3,049

Il 346,118 343,309 2,809

S 29,667 29,427 240

01 HXESHBLEEXS 375,785 372,736 3,049

OUI2&IIE XHH0ee X 375,785 372,736 3,049

Il 346,118 343,309 2,809

== 29,667 29,427 240

Ol JIEEd =4 81,225 75,852 5,373

) 74,813 69,860 4,953

& 6,412 5,992 420

308 AXIEtMI S0l ™ 81,225 75,852 5,373

Il 74,813 69,860 4,953

3 6,412 5,992 420

Ol AIXEHBLEES 81,225 75,852 5,373

O0IZd0 JIE83E =4 81,225 75,852 5,373

Il 74,813 69,860 4,953

== 6,412 5,992 420

Ol = Fad SH(AESX/ ol - FAH) 11,870,932 11,740,060 130,872

= 371,130 334,750 36,380

X 3,750,000 3,750,000 0

Il 4,426,488 4,371,747 54,741

S 3,323,314 3,283,563 39,751

Fad 84 2208 29 2,095,210 2,079,240 15,970

= 351,130 314,750 36,380

Il 537,980 537,860 120

e 1,206,100 1,226,630 20,530

F4dE =BAE 29 343,000 390,000 A47,000

307 212t01 & 343,000 390,000 47,000

05 QIZtRIE S 343,000 390,000 247,000

OLETAABHCI+AHE AE2SL 23,000 70,000 247,000

FLHESUEUH 22 205,500 189,000 16,500

307 212t01 ™ 205,500 189,000 16,500

10 MBISXIANELEE2SHIES 176,500 160,000 16,500

OEAHUESUEUH LEEL 2 176,500 160,000 16,500

NgHAHSSTELNH Js23(=2D) 620, 100 618,500 1,600

= 186,030 185,550 480

=S 434,070 432,950 1,120
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2AH: HEEAEIEDL
F: Dl 4 HAE SH(MSSK/ =0l - HAH)
&e: E4d 4 Z2OY 29 (&e:dQ)
SA - BB O (B) - MSEAY - HES O &k o8 o TimE=T
307 2120l & 620, 100 618,500 1,600
= 186,030 185,550 480
= 434,070 432,950 1,120
10 AL SXAIZHE2HHEX 620, 100 618,500 1,600
OXNLHEAHESIEHH 2Y 620, 100 618,500 1,600
= 186,030 185,550 480
< 434,070 432,950 1,120
HAEXZ A BIXIXIR(=22) 438,600 438,480 120
P 438,600 438,480 120
308 AUXIEHSO0IA 438,600 438,480 120
Il 438,600 438,480 120
01 AXSHHMBAEEXS 438,600 438,480 120
O3S+ AE HLEX AL HHXI 438,600 438,480 120
J| 438,600 438,480 120
HAESEOYE XA (21) 111,000 66,250 44,750
= 86,100 50,200 35,900
=S 24,900 16,050 8,850
308 XtXIEtH SO0l A 111,000 66,250 44,750
= 86, 100 50,200 35,900
< 24,900 16,050 8,850
01 IXEHBAEES 111,000 66,250 44,750
O&AY O2E0Y X 111,000 66,250 44,750
= 86,100 50,200 35,900
= 24,900 16,050 8,850
FAEES & 4 g8 5,650,722 5,535,820 114,902
= 20,000 20,000 0
Jl 3,888,508 3,833,887 54,621
< 1,742,214 1,681,933 60,281
AW HE B8 20,000 10,000 10,000
201 EH2EH| 20,000 10,000 10,000
01 At 22| 20,000 10,000 10,000
OZET Su==UHA NAAAE 29 20,000 10,000 10,000
HAUMNEEXHEH X 419,000 409,000 10,000
307 2I12+01 394,000 384,000 10,000
10 M SEXANEEHE2EHEXR 330,000 320,000 10,000
Ok FAUVMYEEIHH 22 XE 330,000 320,000 10,000
HAESET Z208 2H(210)(2H) 189,100 215,838 226,738
Il 94,550 107,919 213,369
=S 94,550 107,919 213,369
307 gIz2tol 189, 100 215,838 226,738
Jl 94,550 107,919 213,369
< 94,550 107,919 213,369
11 MESXMEEE 189,100 215,838 226,738
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A OEHAHIISD

Y Ol = HAE SH(ABISEX/CQ - HA )

el HAUES U HE BS (3

A -3 .A(3H) - NIBAL - HES Ofl &4 JIEH Hus2
OFAY SHIX T2 2Y 189, 100 215,838 £26,738
7| 94,550 107,919 13,369
< 94,550 107,919 13,369
HAESHR T2 29(=21) 260,330 244,170 16, 160
7| 260,330 244,170 16, 160
308 RtXIESHHSOIA 260,330 244,170 16, 160
7| 260,330 244,170 16, 160
01 RHXISHHBAEES 260,330 244,170 16, 160
OFAYE SHIX T2 29 260,330 244,170 16, 160
7| 260,330 244,170 16, 160
KSAE BAESESXAMA 2E(21) 450,450 405,450 45,000
J| 450,450 405,450 45,000
308 XIXIEHHISOI ™ 450,450 405,450 45,000
J| 450,450 405,450 45,000
01 IXSHMBAETS 450,450 405,450 45,000
OXIYAE HAHSSXAMA 2= 450,450 405,450 45,000
b] 450,450 405,450 45,000
HAHEEH 29N/ (21) 1,132,026 1,062,086 69,940
2| 566,013 531,043 34,970
< 566,013 531,043 34,970
307 212+0| ™ 1,132,026 1,062,086 69,940
J| 566,013 531,043 34,970
[ 566,013 531,043 34,970
10 AIBISEXALEESHHIEE 1,132,026 1,062,086 69,940
OX2EHH 2K 1,132,026 1,062,086 69,940
J| 566,013 531,043 34,970
[ 566,013 531,043 34,970
HAEMRSME 2 (2D)(HE) 295,440 285,080 10,360
J| 147,720 142,540 5,180
[ 147,720 142,540 5,180
307 QI2t01 ™ 295,440 285,080 10,360
J| 147,720 142,540 5,180
[ 147,720 142,540 5,180
11 ABIZXIAMYEE 295,440 285,080 10,360
OHAHSIEHEH 2Y 295,440 285,080 10,360
Jl| 147,720 142,540 5,180
< 147,720 142,540 5,180
HAUMSSHE 29(2E) 30,000 0 30,000
402 SI2tXHE=0I A 30,000 0 30,000
03 QI2HCHEH AL HI 30,000 0 30,000
OFLAHHIEHE AL JISES 30,000 0 30,000
HAHMRSHE 29(=0) 147,720 142,540 5,180
J| 147,720 142,540 5,180

- 298 -




ok

=B

HEHEAEIIZD
Olg = HaE SH(ASSEX/ el - B4H)

A
=]
FAEES ¥ dk 8

el (Bl @)
2AH-ZH . G2A(3) - HEAR - BYS Of &Ho JIE8A Hns2

308 XXl EHHI SOl 147,720 142,540 5, 180

pJ 147,720 142,540 5, 180

01 RSB AEES 147,720 142,540 5,180

OFHAELSIME 29 147,720 142,540 5,180

pJ 147,720 142,540 5, 180

StD 8 HAW XNV (2D)(XF) 255,000 310,000 55,000

p] 178,500 217,000 38,500

= 76,500 93,000 16,500

307 BI2HOI & 255,000 310,000 55,000

p] 178,500 217,000 38,500

= 76,500 93,000 16,500

11 A ST AL EE 255,000 310,000 55,000

ostm % HaH X8 255,000 310,000 55,000

b 178,500 217,000 38,500

= 76,500 93,000 £16,500

HAW 2BANE 25 4,125,000 4,125,000 0

X 3,750,000 3,750,000 0

= 375,000 375,000 0

FABALSE(ZD)(XY) 370,000 560,000 190,000

X 290,000 450,000 160,000

= 80,000 110,000 30,000

401 Al S HI LRI 370,000 560,000 190,000

X 290,000 450,000 160,000

= 80,000 110,000 £30,000

01 Al& bl 370,000 560,000 £190,000

OFAWAL &5 370,000 560,000 190,000

X 290,000 450,000 160,000

= 80,000 110,000 £30,000

FAUALHS(2D)(NE) 190,000 0 190,000

X 160,000 0 160,000

< 30,000 0 30,000

402 RIZEXHROI® 190,000 0 190,000

X 160,000 0 160,000

< 30,000 0 30,000

03 BI2HCHE AR b 190,000 0 190,000

OYATHAELYUT AL NS 190,000 0 190,000

X 160,000 0 160,000

= 30,000 0 30,000
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